Solving Equations Part 111

Solve the following equations if possible.

1. 2(x-5)=-42 2. -3(2y+1)=51 3. 5(3x-4)=25

4. 4(2c+3)=18 5. —5(3x—2)=26 6. 8(2a-7)=—6

7. 8x-3x+4=49 8. —-2X+5-x+13=-27 9. —-7a+3-5a+21=-48
10. x+0.4x=4.48 11. x—-0.3x=-6.02 12. b+0.2b=-60

13. —7x—-22=3x+18 14. 4c+9=7c-33 15. 3y—2=5y—2

16. 8x—4=-2x+6x+18 17. -5x+1-2x=-3-17 18. 2y-3-5y=11-32
19. 3(3y+7)=4(2y-8) 20. 5(2x—-3)=3(5x-2) 21. 2(x-3)+4(2x+1)=48
22. 3(x-4)-(x-7)=11 23. 3x—5(x+3)=x-3 24. 7(x-2)—-(3x+4)=2
25. 4(x-4)-(5x-7)=-3 26. 3x—(7x+3)=-6x+27 27. 4(3x-5)=15—(3x+7)

Solve the following equations by first clearing fractions.

8. gx_lzl 29. ix_1:§ 30. EX_EZE
6 3 2 12 6 4 9 6 18
31, 2x-3_5 32, 2x-1-2 33, 2x-1_3
3 4 6 3 7 2 14
34. iX—§:2x+E 35. Ex—lzﬂx+2 36. §x—g=£x+1
12 4 3 6 15 3 5 8 3 12 6
37. X_p-X43 3 Xf3_X—2 39, X135
5 2 4 3 4 6
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Solve the following equations by first clearing fractions.

40, 2x+1_3x—4:2 s 5x—2_3x—7:1 142, 3_x_5x+3:_l
5 2 3 6 2 6 12
43, 3x—7_x+4:_§ m 6_3X=x+8 45, 2x—3_5:3x—2
5 2 2 3 4
16. B3 _4 6 a7, Yoy 4 48, 23 _y 1
5 3 3
Solve the following equations by first clearing decimals.
49. 0.2x+1.5=-23 50. x—0.4x=45 51. 0.04x+0.5=0.07x—-2.2
52. 1.3x—-1.24=2.1x—0.56 53. 0.08x+0.12(1000—x) =104
54, 0.03x+0.08(9000—x)=350 55. 0.06x+0.075(1200—x)=78
Solve the following equations if possible.
56. 2x+21=7x-3(x-11) 57. 7x+2=3x+4(x-3) 58. 3(2x-5)=2x+4x-15
59. 2x+3(x-2)=5x-11 60. 11x-3=11(x-3) 61. 4x—-8=2x+2(x—4)

62. 8x—(12x-11)=-4x+11 63. 3(3x-1)-x=2(4x-5) 64. 6x-14=-2(3x-5)
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57. no solution

60. no solution
63. no solution

59. no solution

58. all real numbers
61. all real numbers

62. all real numbers



